JLHA

JFC Upper flange swivel cylinders

JLHA UPPER FLA
SWIVEL CYLINDE

NGE
RS

L

Tie-rod
Hydraulic
Gylinder

Cost-effective swivel clamp with compact Mold

structure,high capacity and strong durability E')’I’I?r:g:':;

ORDER INDICATION S

Hydraulic
JLHA 0480 CR JBEL0100-A | M=
‘ ‘ ‘ ‘ Booster
Upper FIange Size: Clamp arm direction: Special specification mark < 1: Special spec. Mark < 2: g(yhnders
Swivel Cylinders 0360 Unmarked: Standard Unmarked: Standard Ur}cl?jmplng
0400 CliLeft D:Double rod type CYlINGers
0480 M. A at JBEL: Speed control valve
. Air sensor plate )
0550 connection type Type:JBEL0100-[J
0650 T o~ JBEL0200-0] ISO
0750 : ‘ Ir Segsortex erna JBELOBOO'D Speciﬁcations
conhguration type Control type: AorB Gylinders
0900 P-Double pressurearmtype
1050 QO: Clamp arm Conical sleeve: TS
(refer to P274) Round
. oun
Y[J: Swivel angle Hydraulic
300, 45°. 60° .
Gylinders
FEATURE e
Hydraulic
Model JLHA0360 | JLHA0400 | JLHA0480 | JLHA0550 | JLHA0650 | JLHA0750 | JLHA0900 |JLHA1050 CyIin Je
Cyfinder capacity . 7mpa) (kN) 24 325 425 7 92 14.1 205 2865
Clamping |Oil pressure is 7MPa (kN) 2 28 4.15 6.15 7.95 123 1735 24.55
force Clamping arm length (LH)| (mm) 30 40 50 50 50 50 60 80
Main rod diameter (mm) 15 18 Py 2 30 355 45 55 Systems
Bore (mm) 26 31 37 44 51 62 76 91 & .
Area (clamping) (cm?) 35 48 68 1022 132 201 293 412 Fittings
Total stroke (mm) 135 145 155 185 20 24 26 32
Clamping stroke (mm) 55 6.5 75 85 10 12 14 16
Swivel stroke (mm) 8 8 8 10 10 12 1 16
Swivel angle accuracy 90°+3°
Repetition accuracy +05°
| of clamping position 0.
Max. working pressure (Mpa) 7
Min. working pressure (Mpa) 15
Voltage resistance (Mpa) 10.0
Temperature °C 0~70
Fluid (ISO Viscosity grade 1SO-SG-32 General hydraulic oil)

288



, JLHA
JFC Upper flange swivel cylinders

@® JLHA:Standard

EXTERNAL DIMENSIONS

Nx

Clamp oil port .
N fasy o Deburring .
b N
N\ ‘V
i

INSTALLATION

PROCESSING DIMENSION

®D+83

() J
. S ¥
Release oil port
Nut (included) oAC Thread X / /

Ny Ny

*1

N m
2 N
: o oz (J T,

= %. © J ’/ | & Nx

. ﬂﬂ - Release oil portgP
Conical sleeve(included) 7BB —_—

- iy Z \ VB VB

‘)
< o LT 2
I [LE i » z A
= /i i
; A b P
|:’|__J 2-Oring Clamp oil port oP
4-EA thread K
T
Note:
*1.Please refer to HF size, determine depth of installation hole @D of
body according to installation height.
@HD33
Release oil port: Rp thread*3 HB

(Only C type can be installed JA a J 2.7
with speed control valve) Y
|

A
E S M. D
o /G}}‘
> \
IS} L>—1]
<
Yich )
)
\\g
L7~
N @4-@1?
2-G Plug (included) Countersink Q
(Only Ctype) -
@ *
Clamp oil port: Rp thread*3 CC_Positioning slot™1

(Only C type can be installed Rtype (Ltype: 180%pposite)
with speed control valve)

I

HC
K

oo L oo |

Note:
»*1.Platen positioning slot towards oil port when clamping.

% 2.This product doesn't include mounting bolt, please configure it according to installation
height and referring to S size.

% 3.This product doesn't include speed control valve, please configure it referring to P280.

% 4.This product doesn't include clamping arm, please configure it by customers.

289



, JLHA
JFC Upper flange swivel cylinders

SIONS
ON PARTS
ENSION TABLE

Model JLHA JLHA JLHA JLHA JLHA JLHA JLHA JLHA
0360-000] | 0400-000J | 0480-000J | 0550-000) | 0650-0J0) | 0750-000 | 0900-000 | 1050-0001
Total stroke 135 145 155 185 20 2% 2% 3 Tie-rod
Swivel stroke(907) 55 65 75 85 10 V) 14 16 Hydraulic
Clamping stroke 8 8 8 10 10 12 12 16 Cylinder
HA 1041 1151 1286 1456 1561 1811 203.1 240.1
HB 49 54 61 69 81 9 107 122
HC 40 45 51 60 70 80 9 110 Mold
HD 36 40 48 55 65 75 90 105 Hydraulic
HE 645 715 79 89 9 109 120 144 CGylinders
HF 395 465 51 59 63 7 74 88
Fu 645 685 75 86.5 93 110 129 15 Swivel &
G 25 25 28 30 31 38 46 56 Clamp
H 29 315 355 39 46 5 595 67 Hydraulic
J 20 25 255 30 35 4 475 55 Cylinders
K 315 341 401 471 5.1 63.1 75.1 88.1
L 66 73 83 88 106 116 136 152 Booster
M 11 11 13 12 13 16 19 2 Cylinders
Nx 235 2 30 335 395 45 525 60 6(nclamping
Ny 8 9 11 iy 15 16 185 25 cylinders
P 3 3 3 3 5 5 5 5
0 75 9 9 1 1 14 175 2
R 45 55 55 68 68 9 11 14 ISO
5 16 15 175 17 17 21 25 k) Specifications
T 155 165 175 205 ) 2% 28 34 Cylinders
U 15f7 1817 2 2517 3017 35567 4567 5517
v 13 15 18 21 24 30 37 83
w 11 12 14 15 16 16 18 19 Round
X(nominalxPitch) M14X 15 M16X 15 M20X 15 M2X 15 M2TX 15 M30X 15 M39X 15 M48X 15 Hydraulic
Y 5 6 8 8 10 10 14 14 Gylinders
Z(chamfer) Q a a a c4 cs C6 C6
AA 2 24 30 3 41 46 55 65 Specific
AB 7 8 9 10 1 11 ¥ V) Hydraulic
AC 25 265 3 355 45 50 60 ol Gylinders
BA 14 16 19 2 25 31 33 4
BB 17 20 25 28 34 40 49 60
A 6.3 7.3 9 s 10,95 125 3 14 3 185 fis 2 3 Systems
CB 65 65 15 95 115 125 115 135 &
C 4+0005 4+00.05 5 +0005 6 +00.05 5 +00.05 8 +00 05 8 +00.05 1 0+00 05 Fittin g S
EA M4X (0.7 M5X0.8 M5X0.8 M6 M6 M8 M10 M12
A 35 35 35 35 45 45 45 45
B 14 14 14 14 19 19 2 2
Rp thread plug| Type Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Oring seal (Type) | 48x19 48X19 48X19 48X19 6.8X19 68X19 68X19 68X19
Capacityom’ [panbnd ) 106 67 1 09 7 1m7s 01
Weight % 8 ke 07 09 14 2 29 42 12 101

Note: % 8.Indicates the weight of the rotating cylinder, including nut and conical sleeve.

290



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:D:Double rods

EXTERNAL DIMENSIONS

" PROCESSING DIMENSION

Clamp oil port 2D*83

INSTALLATION

-C/-Gtype N\ & D DE Thread Deburring*15 5 o6
% e A
3 [ 7
N Ot s
2 ky a
A B S¥
Release oil por
-C/-G type
Nut (included) @AC T dx
N
2 N g
) =
RE S (TH <
#8_ / | @ Nx*5
Conical sleeve(included) 7BB Release oil port %5 @ @
. gu s \
f ©
B 2
W LL=sh 5 —
T s [L:;Zf | ) z
s 1
X Q D
% 2-Orin Clamp oil port @*5
4-EA thread*4 K
L
= ZHD$}
Q @I‘DA Note:
E ‘ 4 Please refer to the S dimension and determine the EA thread
g 8 T{:W depth of the mounting bolt according to the mounting height
& 5.This processing indicates -C/-G: plate connection type.
8 ]

S -+
O +—
O

Release oil port: Rp thread*3

(Only Ctype can be installed ; HB
with speed control valve) H J /21
1 J7a
7,X7 Y
O 4. ©
s 1270 N
LRy, g 3
o i <)) |8
/ 3@ <7
L[7°
Y @ 4R

(Only C type) @ CC Positioning slot*1
Clamp oil port: Rp thread*3 Rtype (Ltype: 180°0pposite)
(Only C type can be installed
with speed control valve)

2-G Plug (includgd) C\Xntersink zQ

Note:

1.Platen positioning slot towards oil port when clamping.

2.This product doesn't include mounting bolt, please configure it according to installation height and
referring to S size.

3.This product doesn't include speed control valve, please configure it referring to P280.

»*When used in combination with other detection methods and options,please contact our business
department.

X This product doesn't include clamping arm, please configure it by customers.

291



JLHA

Upper flange swivel cylinders

(mm)
JLHA JLHA JLHA JLHA JLHA JLHA JLHA JLHA
Model 0360-JID | 0400-[JCID | 0480-[1CID| 0550-[JCID | 0650-[JCID | 0750-[JCID | 0900-[1CID | 1050-[ICID
Total stroke 135 145 155 185 20 2% 26 32
Swivel stroke(90°) 55 6.5 75 85 10 12 14 16
Clamping stroke 8 8 8 10 10 12 12 16
HA 1146 128.1 1416 1586 169.1 194.1 216.1 2531
HB 49 54 61 69 81 9 107 122
HC 40 45 51 60 70 80 95 110
HD 36 40 48 55 65 75 90 105
HE 67 745 82 9 97 112 123 147
HF o) 495 54 62 66 74 77 91
Fu 645 685 775 86.5 93 110 129 152
G 25 25 28 30 31 38 46 56
H 29 315 355 39 46 5) 59.5 67
J 20 25 255 30 35 40 415 55
K 315 341 40.1 411 55.1 63.1 751 88.1
L 66 73 3 88 106 116 136 152
M 11 11 13 1 13 16 19 0
NX 35 2% 30 35 395 45 525 60
Ny 8 9 11 1 15 16 185 25
p 3 3 3 3 5 5 5 5
Q 75 9 9 11 11 14 175 20
R 45 55 55 6.8 6.8 9 11 14
S 16 15 175 17 17 21 25 3
T 155 165 175 205 2 2% 28 34
U 15f7 1817 21 2517 3017 35517 4517 5517
v 13 15 18 21 24 30 37 43
w 11 12 14 15 16 16 18 19
X(nominalxPitch) M14X 1.5 M16X1.5 M20X1.5 M22X1.5 M27X1.5 M30X1.5 M39X1.5 M48X1.5
Y 5 6 8 8 10 10 14 14
Z(chamfer) 2 a3 a3 3 4 5 C6 6
AA 2 24 30 32 41 46 55 65
AB 7 8 9 10 11 11 1 1
AC 245 265 3 355 45 50 60 71
BA 14 16 19 2 25 31 38 44
BB 17 20 25 28 34 40 49 60
CA 6_00s 7_00s 9505 10_g0s 125_0s 14_g0s 185 _g0s 23_00s
CB 6.5 6.5 75 95 115 125 115 135
cC 4+0005 4+% 05 5+00 05 6*0005 6 +00 05 3 +% 05 3 +0005 10+00 05
DA 8 1 14 14 14 18 18 18
DB 8 10 10 10 10 10 10 10
DC 25 3 3 3 3 3 3 3
DD 25 29 36 36 43 50 65 30
De (nominalxPitch) M4X0.7X10 M6X 15 M8X 18 M8X 18 M8 18 M10X21 M10X21 M10X21
DF 6 10 12 12 12 16 16 16
EA M4X0.7 M5 0.8 M5X0.8 M6 M6 M8 M10 M12
JA 35 35 35 35 45 45 45 45
JB 14 14 14 14 19 19 2 2
Rp thread plug  Rrp Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Oring seal (-C/-G type) 48X19 48%19 48%19 48%19 68X 19 68X 19 6.8%19 68X 19
i 3 i 48 73 108 19 267 48.7 76.6 1321
Capacitycm %'éié“aﬁ.'ﬂg 65 93 143 253 378 66.4 1113 200
Weight %6 kg 0.7 0.9 14 2 3 42 73 103

Note: < 6.Indicates the weight of the rotating cylinder, including nut and conical sleeve.

292

Tie-rod

Hydraulic
Gylinder

Mold
Hydraulic
CGylinders

Swivel &
Clamp
Hydraulic
Qylinders

Booster
Cylinders
&

Unclamping
cylinders

NO)

Specifications
CGylinders

Round
Hydraulic
Gylinders

Specific
Hydraulic
Gylinders

Systems

&
Fittings



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:M:Air sensor block connection type

EXTERNAL DIMENSIONS JINSTALLATION
EXTERNAL DIMENSIONS Moo ~FcsiNG DIMENSION

@® C:Block(include RP thread plug)
Nx

Deburring*7 Co06
Clamp oil port \1 '?*7 -
‘V/

@D+8'3

-C/-Gtype
3
> £/ N
z U 9 MA -
I 4
Z1 |z L S S
= b 3 Sl &
O ° %3\0 2 e o =
Release oil port, g o el } - ©
-C/-G type o| = 900 |
T ¢ .
Nut (included) @AC Thread X =) = /ﬁq}/
r s = Z
T
q = ="1g) > i e B
= N 5 ¢ = § \ 2-24~6
\
> %_ ] o/ m [ Deburring
C )nicjlzsleeve(included) %BB xhaust port*4
— S oMC
| ][V] L
e
o ;::}Lﬂ,,’_l‘ | \[ Nx*7
< H7 L Release oil portd *7
T o [LE R f(\l @ @
s r ‘ »
| ﬁ‘ } N \ /\
w| [2-Oring / g _
I *
z &
T
i @
Clamp oil port @*7
HD§3
e = 4-EA thread*4 K
Air release port
) Note:
o ?-olnggd) ., Airclamp port 4.Exhaust port must be discharged into the atmosphere,
= include ‘ ‘ ) and prevent coolant and cutting debris from entering.
= 5.Please refer to the S dimension and determine the EA
thread depth of the mounting bolt according to the
mounting height.

Exhaust port*4
ZgMA [——ReuP 6.The size indicates the size under the flange.

7.This processing indicates -C/-G: plate connection type.

Release oil port: Rp thread*3
(Only Ctype can beinstalled  ja

with speed control valve) H
| Jzay)
‘I}W ©
J

m
1
Q

J]]

=

HC

K
CA
AA

T\
/1

- N2 @ 4-0R

2-G Plug (included) Countersink 2Q
(Only Ctype) @ CC Positioning slot*1

Clamp oil port: Rp thread*3
(Only C type can be installed

with speed controlvalve) s« This drawing shows the release
state of JLHA- CRM type.

Rtype (Ltype: 180°0pposite)

Note:
1.Platen positioning slot towards oil port when clamping.
2.This product doesn't include mounting bolt, please configure it according to installation height and referring to S size.
3.This product doesn't include speed control valve, please configure it referring to P280.
*When used in combination with other detection methods and options,please contact our
business department.
*This product doesn't include clamping arm, please configure it by customers.

293



JLHA

Upper flange swivel cylinders

(mm)
Model JLHA JLHA JLHA JLHA JLHA JLHA JLHA JLHA
0360-C1CIM  0400-[JCIM | 0480-[1CIM  0550-[CIM | 0650-[]CIM  0750-[JCIM | 0900-[JCIM | 1050-CICIM
Total stroke 135 145 155 185 20 24 26 32
Swivel stroke(90°) 55 6.5 75 8.5 10 12 14 16
Clamping stroke 8 8 8 10 10 12 12 16
HA 104.1 115.1 128.6 145.6 156.1 181.1 203.1 240.1
HB 49 54 61 69 81 92 107 122
HC 40 45 51 60 70 80 95 110
HD 36 40 48 55 65 5 90 105
HE 64.5 715 9 89 94 109 120 144
HF 39.5 46.5 51 59 63 71 123 88
Fu 64.5 68.5 T1.5 86.5 93 110 129 152
G 25 25 28 30 31 38 46 56
H 29 315 355 39 46 52 59.5 67
J 20 22.5 25.5 30 35 40 475 55
K 315 34.1 40.1 471 55.1 63.1 75.1 88.1
L 66 3 83 88 106 116 136 152
M 11 11 13 12 13 16 19 22
Nx 235 26 30 335 39.5 45 52.5 60
Ny 8 g 11 12 15 16 185 22.5
p 3 3 3 3 5 5 5 5
Q 75 9 9 11 11 14 175 20
R 45 55 55 6.8 6.8 9 11 14
S 16 15 175 17 17 21 25 32
T 155 16.5 175 20.5 22 26 28 34
U 1517 1817 211 25171 30f7 355f7 457 5517
v 13 15 18 21 24 30 37 43
w 11 12 14 15 16 16 18 19
X(nominalxPitch) M14X15 M16X1.5 M20X1.5 M22X 15 M27X 1.5 M30X1.5 M39X1.5 M48X 1.5
Y 5 6 8 8 10 10 14 14
Z(chamfer) C2 C3 C3 C3 C4 C5 C6 C6
AA 22 24 30 32 41 46 55 65
AB 7 8 9 10 11 11 12 12
AC 245 26.5 33 355 45 50 60 71
BA 14 16 19 22 25 31 38 44
BB 17 20 25 28 34 40 49 60
CA 6_00s 7_g0s 9_gos 10_g5s 125 _ges 14 g 185 _gos 35
CB 6.5 6.5 75 9.5 115 125 115 135
cC 44005 44005 54005 6005 600 8 9% g 005 10707
EA M4X0.7 M5X0.8 M5X0.8 M6 M6 M8 M10 M12
MAf8 34.5 00 38 5 4550 4550 4550 53 Dbie 5350 53301
MAH8 345 EO 039 3880 039 45 50 039 45 50 039 45 EO 039 53 EO 046 53 ED.DAE 53 EO 046
MB 32 33 385 385 40.5 49 49 515
MC 35.7 39.2 46.2 46.2 46.2 54.2 54.2 54.2
MD 494 575 65.4 134 79.4 86.5 89.5 106.5
ME 62.4 70.5 78.9 86.9 929 106 109 126
MF 40 47 53 61 65 74 77 9%
MG 49 6 79 79 9.9 75 175 75
MH 9 9 9 9 9 10 10 10
MJ 4 4 45 45 45 9.5 9.5 9.5
MK 6.5 6.5 8 8 8 11 11 16.5
ML 134 815 914 99.4 1054 122 125 1475
MM 11 15 15 15 15 15 15 15
JA 35 35 35 35 45 45 45 4.5
JB 14 14 14 14 19 19 2 2
Rp thread plug rp Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Copacityom” Releaiing| o5 53 13 1) 575 G ms |
Weight * 8 kg 0.8 1 16 22 31 45 1.6 10.6

Indicates the weight of the rotating cylinder, including nut and conical sleeve
1.Air sensor want to choose embedded, you can call consultation.

294

Tie-rod

Hydraulic
Gylinder

Mold
Hydraulic
CGylinders

Swivel &
Clamp
Hydraulic
Qylinders

Booster
Cylinders
&

Unclamping
cylinders

NO)

Specifications
CGylinders

Round
Hydraulic
Gylinders

Specific
Hydraulic
Gylinders

Systems

&
Fittings



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:N:Air sensor external piping type

EXTERNAL DIMENSIONS JINSTALLATION

PROCESSING DIMENSION

® CBlock(include RP thread plug)

+0.3
Deburring*6 2D’

J—‘,a co6

6

z

2-NG thread*4
Nut (included) — 9AC  _ Thread X
> & Nx*6
= 4<I Release oil port? *6

\
[Taper 1/1D

m | 71 )
© gl s N
A |
Conicﬁl sleeve(included) 2BB
{
ClampoyilmrtL%/{r

)
C
Fu
Ny*6Ny*6
97
N
\v%)
/
& @&

< o
* = [LE: ‘ 4-EA thread*5 O
g Note:
Wi p-Oring 4.Exhaust port must be discharged into the atmosphere,and prevent
coolant and cutting debris from entering.If in direct contact with coolant,
w accessories should be installed at the NG thread to prevent coolant from
* entering.However,exhaust port must not be blocked.
SHDS 5.Please refer to the S dimension and determine the EA thread depth of
2 the mounting bolt according to the mounting height.
Aif release portRc1/8 B 6.This processing indicates -C/-G: plate connection type.
) a) \
= z
S J CLAMP/RELEASE PHASE
Air clamp portRc1/8~ ZMA | Exhaust port*4 OF CONFIRMING PORT

Release oil port: Rp thread*3
(Only Ctype can beinstalled  ja
with speed control valve)

J 2-Z N:Standard phase NC

= - o
= 1 & {l@ /=
(17|

%

\ @JB |

jc H \E \; ::
7\::ﬁ =\ @/7 d - y ‘E@ \
2|5 7{?7@» )) 133 £ = =7

7&}‘4 - NL . - NR ]

) S22 4-gR 93 ¢ T TN
ot \% o Y A
Clamp oil port: Rp thread*3 Rt QCC(LZOSIU.OTSSGSIN 1 ite) £@¥ { % 3, {@égj A

(Only C type can be installed ype ype: opposite — =7 = =

with speed control valve)
* This drawing shows the
release state of JLHA- CRM type.

*Part. Release confirm port @ Part. Clamp confirm port

Note:
1.Platen positioning slot towards oil port when clamping.
2.This product doesn't include mounting bolt, please configure it according to installation height and referring to S size.
3.This product doesn't include speed control valve, please configure it referring to P280.
*When used in combination with other detection methods and options,please contact our
business department.
X This product doesn't include clamping arm, please configure it by customers.

295



JLHA

Upper flange swivel cylinders

NSIONS
ION PARTS

NSION TABLE

(mm)
Model JLHA JLHA JLHA JLHA JLHA JLHA JLHA JLHA
0360-JCIN[]| 0400-CICINL| 0480-[ICINL| 0550-CICINCI0650-CICINC 0750-CICINC| 0900-CICINC| 1050-CICINC

Total stroke 135 145 155 185 20 2% 2% 3
Swivel stroke(90°) 55 6.5 75 85 10 12 14 16
Clamping stroke 8 8 8 10 10 12 12 16

HA 104.1 1151 1286 1456 156.1 1811 203.1 240.1

HB 49 54 61 69 81 92 107 122

HC 40 45 51 60 70 80 95 110

HD 36 40 48 55 65 75 90 105

HE 64.5 715 79 89 94 109 120 144

HF 395 465 51 59 63 71 123 88

Fu 64.5 68.5 715 86.5 93 110 129 152

G 25 25 28 30 31 38 46 56

H 29 315 355 39 46 52 505 67

J 2 2.5 255 30 35 40 415 55

K 315 341 401 411 55.1 63.1 751 88.1

L 66 73 83 88 106 116 136 152

M 11 11 13 12 13 16 19 2

Nx 235 2% 30 335 395 45 525 60

Ny 8 9 11 12 15 16 185 225

P 3 3 3 3 5 5 5 5

Q 75 9 9 11 11 14 175 20

R 45 55 55 6.8 68 9 11 14

S 16 15 175 17 17 il 25 3

T 155 16.5 175 205 0 2% 2 34

u 157 187 0f1 25f7 30f7 3557 45f7 55f7

v 13 15 18 21 2% 30 37 83

W 11 12 14 15 16 16 18 19

X(nominalxPitch) M14X15 M16X 15 M20X15 M22X 15 M27X15 M30X15 M39X15 M48X 1.5

Y 5 6 8 8 10 10 14 14

Z(chamfer) Q 3 a3 3 C4 C5 C6 C6

AA 2 2% 30 32 4 46 55 65

AB 7 8 9 10 11 11 12 12

AC 245 265 3 355 45 50 60 71

BA 14 16 19 2 25 31 38 44

BB 17 20 25 2 34 40 49 60

CA 6_0s [ 9_ges 10_gs 125 _gys 14 g 185 gy B o

B 6.5 6.5 75 9.5 115 125 115 135

CC 4+0005 4+%05 5+0005 6+0005 6 +0005 8 +0005 8 +0005 10 +0605

FA M4X0.7 M5X0.8 M5X0.8 M6 M6 M8 M10 M12

NA 355 395 45 45 45 53 53 53

NB 3 3 385 385 405 49 49 571.5

NC 98 9 11 11 11 13 13 17

ND 117 13 145 145 145 205 205 2%

NE 17 19 2 21 2 245 245 245

NF 25 29 29 29 29 38 38 38
Ng(nominalxsymmetry) | M3X0.5xX5 M3X0.5%5 M3X0.5X5 M3X0.5X5 M3X0.5X5 M4X0.7X6 M4X0.7X6 M4X0.7X6

JA 35 35 35 35 45 45 45 45

JB 14 14 14 14 19 19 2 2

Rp thread plug  RP Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Oringseal (-C/-Gtype)| 48x19 48%19 48X19 48%19 68X19 68%19 68X19 6.8X19
3-0 ring seal 2987X1.78 3465 1.78 41X1.78 41X1.78 41X1.78 4735X1.78 4735X1.78 4735X178

. i 48 73 108 19 2.7 487 766 1321

Capacity EL"}QQ\E.'RS 65 93 143 253 378 66.4 1113 200

Weight % 7 kg 08 1 16 22 31 45 76 106

Note: < 7.Indicates the weight of the rotating cylinder, including nut and conical sleeve
1.Air sensor want to choose embedded, you can call consultation.

296

Tie-rod

Hydraulic
Gylinder

Mold
Hydraulic
CGylinders

Swivel &
Clamp
Hydraulic
Qylinders

Booster
Cylinders
&

Unclamping
cylinders

NO)

Specifications
CGylinders

Round
Hydraulic
Gylinders

Specific
Hydraulic
Gylinders

Systems

&
Fittings



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:P:Double pressure arm type

EXTERNAL DIMENSIONS

@® C:Block(include RP thread plug)

INSTALLATION

PROCESSING DIMENSION

Nx +0.3
Clamp oil port Deburring*6 2D%

-C/-Gtype N ) & 1'6*6 C0.6
o | i

K® J
Release oil por; S S

Ny Ny

*5

-C/-Gtype T | ____
ZPB_  PH thread*1
o IRIEES Nx*6
w {" Release oil port?*6
o
N o O
i ©
O L >
o 0T g 2 s
/ > &
@,/é%/ 5
o T ) i
< xal « Clamp oil port@*6
R :
V4 0 4-EA thread*4 0K
2 | 2-0rin Note:
4 Please refer to S size,determine the EA thread depth of the installation
T bolt according to installation height.
5.Please refer to F size, determine depth of installation hole @D of body
according to installation height.
6.This processing indicates -C/-G: plate connection type.
ZHD3:3

Release oil port: Rp thread*3
(Only C type can be installed JA
with speed control valve)

i

J@ﬁz DOUBLE PRESSURE ARM

o H 5:; Bolt M.aintaining‘platen position
S o \ /Wlth leaf spring
(ORI |
Q| L (<{ gé» ) [ . Plate
/ 1 : :
E

2-G Plug (include Countersink 2Q

(Only Ctype)

Clamp oil port: Rp thread*3,
(Only C type can be installed
with speed control valve)

X This drawing shows the release state of JLHA-C[ J-P.

Note:

1.Please use the screw at the top of piston rod when pressure arm position must be maintained(PH thread).

2.This product doesn't include mounting bolt, please configure it according to installation height and referring to S size.
3.This product doesn't include speed control valve, please configure it referring to P280.

* When used in combination with other detection methods and options,please contact our business department.

# This product doesn't include clamping arm, please configure it by customers.

297



. JLHA
Upper flange swivel cylinders

Model JLHA JLHA JLHA JLHA JLHA JLHA JLHA JLHA
0360-[1C]-P | 0400-[ICJ-P | 0480-[IJ-P| 0550-[[1-P| 0650-11-P | 0750-]C1-P | 0900-C11-P | 1050-C1[1-P
Total stroke 135 14.5 155 185 20 24 26 32
Swivel stroke(90°) 55 6.5 15 85 10 12 14 16
Clamping stroke 8 8 8 10 10 12 12 16
HA 102.1 113.1 126.6 143.6 156.1 181.1 203.1 238.1
HB 49 54 61 69 81 92 107 122
HC 40 45 51 60 70 80 95 110
HD 36 40 48 55 65 5 90 105
HE 64.5 715 9 89 94 109 120 144
HF 395 46.5 51 59 63 1 4 88
Fu 62.5 66.5 75.5 84.5 93 110 129 150
G 25 25 28 30 31 38 46 56
H 29 315 355 39 46 52 59.5 67
J 20 225 255 30 35 40 47.5 55
K 315 34.1 40.1 47.1 55.1 63.1 75.1 88.1
L 66 73 83 88 106 116 136 152
M 11 11 13 12 13 16 19 22
Nx 235 26 30 335 39.5 45 525 60
Ny 8 9 11 12 15 16 185 225
P 3 3 3 3 5 5 5 5
Q 75 9 9 11 11 14 175 20
R 45 55 55 6.8 6.8 9 11 14
S 16 15 175 17 17 21 25 32
U 15f7 1817 2211 25f7 307 355f7 45f7 5517
Z(chamfer) C2 C3 3 C3 C4 C5 C6 C6
EA M4X0.7 M5X0.8 M5X0.8 M6 M6 M8 M10 M12
PA 7 8 10 12 14 16 22 26
PB 135 16 20 23 28 335 43 53
PC 6 6 8 23 13 13 16 20
PD 9 11 12 125 16.5 19 235 25.5
PE 21 24 215 315 385 435 525 58.5
PF 22 25 29 33 40 45 54 60
PG 155 16.5 185 215 22 27 29 34
PH M3X0.5 M3X0.5 M4X0.7 M5X%0.8 M6 M6 M8 M8
JA 35 35 35 35 4.5 45 45 45
JB 14 14 14 14 19 19 22 22
Rp thread plug  RP Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Oring seal (-C/-Gtype) 48X19 48X19 48X19 48X19 6.8X19 6.8X19 6.8X1.9 6.8X1.9
3-Oring seal 29.87X1.78 34.65X1.78 41X1.78 41X1.78 41X1.78 41X1.78 4735X1.78 47.35X1.78
e I N I O I I S
Weight*7 kg 0.7 0.9 13 19 28 4 7 9.8

Note: < 7.Indicates the weight of the rotating cylinder, including nut and conical sleeve.

298

Tie-rod

Hydraulic
Gylinder

Mold
Hydraulic
CGylinders

Swivel &
Clamp
Hydraulic
Qylinders

Booster
Cylinders
&

Unclamping
cylinders

NO)

Specifications
CGylinders

Round
Hydraulic
Gylinders

Specific
Hydraulic
Gylinders

Systems
&
Fittings




, JLHA
JFC Upper flange swivel cylinders

@ JLHA:Q[J:Clamping stroke

EXTERNAL DIMENSIONS JRINSTALLATION

® C:Block(include RP thread plug) PROCESSING DIMENSION

NX Deburring*6

Clamp oil port

-C/-G type N\ D D
bz
&/
17 /
Release oil porti/ i & &

-C/-G type

Ny Ny

Nut (included) ZAC

Thread X
N m Nx*6
= I}J Release oil portg 6
g7 {] °
SH O < N
2 a4 7 ©
Conical sleeve(included) BB %
- > *
i gu o z &
=
o | )
H’F::}L‘hﬁﬂ Clamp oil portg6
< |© il N 4-EA thread 0K
T = [LL: g 0 - rea
fa\ |
w 2-Oring Note:
T 4 Please refer to S size, determine the EA thread depth of the installation bolt
w according to installation height.
- 5.Please refer to F size, determine depth of installation hole @D of body according
to installation height.
6.This processing indicates -C: plate connection type.

ZHD$3
Release oil port: Rp thread*3 HB
(Only Ctype can beinstalled  JA 2.7
with speed control valve) H J L
Gl e
[a) q /@m 1]
= j:\:\f:{J Z
O X = | <
T Y
28 T W) 152
/ (@3
Ls=71
L7

2-G Plug (included) Couyntersink 2Q
(Only Ctype)
@ CC Positioning slot*1

Clamp oil port: Rp thread*3 Rtype (Ltype: 180°0pposite)
(Only C type can be installed

with speed control valve)

2 This drawing shows the release state of JLHA-CR-Q.
Note:
1.Platen positioning slot towards oil port when clamping.

2.This product doesn't include mounting bolt, please configure it according to installation height
and referring to S size.
3.This product doesn't include speed control valve, please configure it referring to P280.
*When used in combination with other detection methods and options,please contact our
business department.

*This product doesn't include clamping arm, please configure it by customers.

299



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:Q[:Clamping stroke

Model Size Direction of rotation ( clamping) Clamping run
0360
0400 Q15:Clamping run15mm
0480 L: Turn left Q20:Clamping run20mm

0550
JLHA Q25:Clamping run25mm

0650 R: Turnright Tie-rod
8;(5)8 Q30:Clamping run30mm Hydraulic

Cylinder
1050

EXTERNAL DIMENSIONS AND INSTALLATION PARTS

OCESS SIO el
PROCESSING DIMENSION TABLE e
(mm) CGylinders
Model ‘élégé—DEl—QD ‘(J)%—DEI—QD &Ugé—IZIEI—QD ‘(J)Iélgg—DD—QD ‘(J)Iélgg—DEl—QD ‘élilgé—DD—QD ‘(J)ELJ'Sl“f\—DD—OIZI
Optional accessory type Q15| Q20| Q25 | Q30| Q15| Q20 | Q25 | Q15 | Q20 | Q25 | Q15 | Q20 | Q25 | Q15 | Q20 | Q25| Q30 Q20 Q25 Q20 Q25
Total run 205|255 | 33 | 38 | 215|265 345|225 |27.5| 36 |235|285|335| 25 | 30 | 35 | 40 32 37 34 39 Swivel &
Swivel stroke(90°) 55 |55| 8 8 | 65| 65|95 | 75| 75| 11 |85]|85| 85| 10 | 10 | 10 | 10 12 12 14 14 Clamp
gclraorfgglng 15 120 | 25 |30 | 15 | 20 | 25 | 15 | 20 | 25 | 15 | 20 | 25 | 15 |20 | 25 | 30 | 20 25 20 25 Hydrau“c
HA 125.1|140.1| 162.6 [177.6/136.1| 151.1| 175.1 | 149.6 | 164.6 | 190.1 | 160.6 | 175.6 [ 190.6 | 171.1|186.1{201.1|216.1| 2051 | 220.1 | 227.1 | 242.1 Cylinders
HB 49 54 61 69 81 92 107
HC 40 45 51 60 70 80 95
HD 36 40 48 55 65 5 90 Booster
HE 785 | 885 |103.5|1135] 855 | 955 |1115| 93 | 103 | 120 | 99 | 109 | 119 | 104 | 114 | 124 | 134 | 125 135 136 | 146 Cylinders
HF 535 | 635 | 785|885 (605|705 |865 | 65 | 75 | 92 | 69 | 79 | 89 | 73 | 83 | 93 | 103 | &7 a7 90 | 100 .
Fu 715 | 765 | 84 | 89 | 755|805 | 88.5 | 845 | 895 | 98 | 915 | 965 |1015| 98 | 103 | 108 | 113 | 118 123 137 | 142 Un_c lamping
cylinders
G 25 25 28 30 31 38 46
H 29 315 355 39 46 52 59.5
J 20 25 255 30 35 40 475
K 315 34.1 40.1 471 55.1 63.1 75.1 ISO
L 66 73 83 88 106 116 136 Specifications
M 11 11 13 ) 13 16 19 CGylinders
NX 235 26 30 335 395 45 525
Ny 8 9 11 12 15 16 185
P 3 3 3 3 5 5 5
Q 75 9 9 1 1 14 175 Round
R 45 55 55 68 68 9 1 Hydraulic
S 16 15 175 17 17 2 25 Cy|inder5
T 225 [ 215 [ 35 [ 40 [235] 285365 | 245 [205 [ 38 [255[305[3s5 | 27 [ [s1 [ a2 | u 39 36 | 41
U 157 187 2f7 257 3017 35.5f7 45f7
; . . : . . . : soad i
X (nominalxPitch) M14X15 M16X15 M20X 1.5 M22X15 M27X15 M30X15 M39X15 Hygiraullc
Y 5 6 8 8 10 10 14 Cyllnders
Z(chamfer) C2 c3 c3 c3 c4 c5 c6
AA 2 24 30 32 41 46 55
AB 7 8 9 10 11 11 12 Systems
AC 245 265 33 355 45 50 60 &
BA 14 16 19 2 25 31 38 L
BB 17 20 25 28 34 40 49 F|tt|ngs
CA 6_0s 7 _gos 9 _gos 10_gos 12.5_gos 14 _gos 185 _gos
cB 6.5 65 75 95 115 125 115
cc 4490 4+9% 5% 6 19% 6% 8 9% 8 %>
EA M4X0.7 M8X0.8 M5X0.8 M6 M6 M8 M10
JA 35 35 35 35 45 45 45
JB 14 14 14 14 19 19 2
Rp thread plug  Rrp Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8
Oringseal  -Ctype 48X19 48x19 48X19 48X19 6.8X19 6.8X19 6.8X19
Capacitmmgleeiggiigg 72 [ 89 [116]133] 108 133|173 | 158 [ 193 [ 252 [ 242 [ 29.4 [ 345 [ 335 [402[469]536] 65 751 | 1003 [115.1
g 109 | 135 |17.5/202 | 162 | 20 | 26 | 242|296 | 387 | 357 | 433 | 509 | 51.1 | 613 |715|8L7| 966 | 1117 | 1542 | 1769
Weight % 8 ke 07 (08 | 1| 1| 1| 11|13 16| 17| 2 |22]|24]25|32(35[37] 4 48 52 83 | 88

Note: ¢ 8.Indicates the weight of the rotating cylinder, including nut and conical sleeve

300



. JLHA
Upper flange swivel cylinders

JFC
EXTERNAL DIMENSIONS

® C:Block(include RP thread plug)

INSTALLATION
PROCESSING DIMENSION

£ oPB'8**6
Nx o @D*33
Clamp oil port < 06
-C/-G type &) - L6 -

IN

A

T/’

PA*6 /L
@%/

Ny Ny

*5

K % J
Release oil pori @ @

-C/-Gtype s T T ~
Nut (included) 2AC _Thread X
\ 1
; g Nx*6
o = Release oil port:O ring
= 8 [ T 1 < seal(included)*6 ) )
> B )y ° 50
= A ef )
Co&lcal sleeve(included) @éB 5 = .
I L
i u 21N
-
| [ P -
< o Hﬁm*T ! ‘H Clamp oil port:O ring
R N seal(included)*6
T L - *,
s [L, w4 i 1) 4-EA thread*4 0K
L
T Note:
4.Please refer to S size, determine the EA thread depth of the
installation bolt according to installation height.
T 5.Please refer to HF size, determine depth of installation
hole @D of body according to installation height.
6.This processing indicates -C: plate connection type.
ZHD$3
Release oil port: Rp thread*3 HB

(Only Ctype can beinstalled JA
with speed control valve)

J 2-Z

i

HC
OK

JB
Iy =8

I\

il

@

&

N

N
|

<
<

)

<C
(&)

[ oo I |

k

N, 22
()
—_—

<

<

<

$§§ 4-0R

Countersink 2Q
JCC Positioning slot*1

Rtype (Ltype: 180°0pposite)

2-G Plug (included)
(Only Ctype)
Clamp oil port: Rp thread*3
(Only C type can be installed
with speed control valve)

*This drawing shows the release state of JLHA-CR-Q.

Note:

1.Platen positioning slot towards oil port when clamping.

2.This product doesn't include mounting bolt, please configure it according to installation height
and referring to S size.

3.This product doesn't include speed control valve, please configure it referring to P280.

*When used in combination with other detection methods and options,please contact our

business department.
»This product doesn't include clamping arm, please configure it by customers.

301



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:Q[:Clamping stroke

Model Size Direction of rotation ( clamping) Clamping run
0360 . .
0400 Q35:Clamping run35mm
0480 L: Turn left Q40:Clamping run40mm
JLHA 0550
8328 R: Turn right Q45:Clamping run45mm .
. Hydraulic
Q50:Clamping run50mm ;
?ggg ping Cylinder

EXTERNAL DIMENSIONS AND INSTALLATION PARTS

PROCESSING DIMENSION TABLE Mold

Hydraulic

(mm) CGylinders
AHA | JLHA JLHA JLHA JLHA JLHA JLHA JLHA
Model |G u0-00-a0| e0-00-a0|  0550-010-Q01 | 0650-000-Q0)|  0750-001-Q01 | 0900-01-Q 1050-0J1-Q0)
Qptional iype | @35 | Q30| 35| 040 | 030 | 35| 040 | Q30| @35 | Q40 | 045 | Q50 | Q35 | Q40 | 045 | @50 | 030 | 035 | Q40 | 45 | Q50| @30 | @35 | <40 | 45 | Q50 | @25 | Q30| @35 | Q40 | 4 | Q0 Swivel &
Total run 43 |305]aa5]a05| 41| 46 | 51|42 | 47 |52 |57 | 62| 50|60 |65 |a2|ar |55 |60 65|aa]ao]s7|62|6r]ar]ac]|sn|se]er]es
5(‘3’(;‘!?' stroke 8 fos|osfos || ||| |2|2]15]15]15|14]|14|17]17]|17 16 Clamp
Camping 35 |30 |35 |40 [ 30|35 |40 |30 |35 |40 |45 50|35 |40 |45|50 |30 |35 4045|530 |35|40 45|50 |2 |30]35]4]45]50 Hydraulic
HA 1926 [190.1|205.1{220.1{205.1(220.1|235.1 |216.1{231.1|246.1 [261.1 |276.1|246.1|261.1 [276.1 [201.1235.1|250.1 {274.1 [289.1|304.1 |257.1{272.1 2961 |311.1 326.1 |267.1|282.1 |297.1 [312.1|327.1 | 342.1 Cy“nders
HB 49 54 61 69 81 P 107 12
HC 4 5 51 60 70 80 9 110
HD 36 4 48 55 65 75 90 105 Boqster
HE 1235 |1215(131.5(141.5| 130 | 140 | 150 | 136 | 146 | 156 | 166 | 176 | 154 | 164 | 174 | 184 | 145 | 155 | 171 | 181 | 191 | 156 | 166 | 182 | 192 | 202 | 162 | 172 | 182 | 192 | 202 | 212 g(yllnders
HF 98.5 96.5 |106.5|116.5( 102 | 112 | 122 | 106 | 116 | 126 | 136 | 146 | 123 | 133 | 143 | 153 | 107 | 117 | 133 | 143 | 153 | 110 | 120 | 136 | 146 | 156 | 106 | 116 | 126 | 136 | 146 | 156 UnClamping
Fu 94 935985 (1035( 103 | 108 | 113 | 110 | 115 | 120 | 125 | 130 | 123 | 128 | 133 | 138 | 128 | 133 | 141 | 146 | 151 | 147 | 152 | 160 | 165 | 170 | 161 | 166 | 171 | 176 | 181 | 186 cylinders
G 2 2 28 30 31 38 46 56
H 2 315 35 3 4% 52 595 67
J 2 05 255 30 35 40 475 55 ISO
K 315 u1 401 471 551 631 7.1 881
L 66 73 83 88 106 116 136 152 Specifications
M u 1 13 12 13 16 19 2 Cylinders
Nx 235 26 30 335 395 45 525 60
Ny 8 9 11 12 15 16 185 22.5
PA 3 3 3 3 5 5 5 5
PB 8 8 8 8 10 10 10 10 Round
Q 75 9 9 11 11 14 175 20 Hyd aulic
R 45 55 55 68 68 9 1 14 CyIinders
s 16 15 175 17 17 2 2 P
T 45 415 ‘46.5 ‘ 515 43 ‘ 48 ‘ 53 44 ‘ 49 ‘ 54 ‘ 59 ‘ 64 52 ‘ 57 ‘ 62 ‘ 67 44 ‘ 49 ‘ 57 ‘ 62 ‘ 67 46 ‘ 51 ‘ 59 ‘ 64 ‘ 69 43 ‘ 48 ‘ 53 ‘ 58 ‘ 63 ‘ 68
U 157 187 2f7 25f7 30f7 35.5f7 45f1 55f7 .ﬁ
% 13 15 18 21 24 30 37 43 SpeCI c.
W 11 12 14 15 16 16 18 19 Hy.drau"c
XnominaIxPitch M14X15 M16X1.5 M20X1.5 M22X1.5 M27X1.5 M30X1.5 M39X1.5 M48X 1.5 Cyllnders
¥ 5 6 8 8 10 10 14 14
Z(chamfer)| © c3 3 a c4 c5 c6 c6
M P! 2 30 ) 4 46 55 6
AB 7 8 9 10 11 11 12 12 SyStems
AC 245 26.5 33 355 45 50 60 71 &
BA 14 16 19 22 25 31 38 44 Fittings
8B 17 2 2 28 £ 4 49 60
CA 67(?05 77 0005 9 - 0005 10 - 0005 125 70005 147 0005 185 7(?05 23 7(905
c8 65 65 75 95 115 125 115 135
cc 47005 4700 51005 6005 500 § 005 500 10905
EA MAX07 | M5X08 M5X08 M6 M6 M8 M10 M12
JA 35 35 35 35 45 45 45 45
JB 14 14 14 14 19 19 22 22
Fothread 9| mo1s8|  Rp1/s Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Rling S?Caltype 48X19 | 48X19 48X19 48X19 68X19 68X19 68X19 68X19
QpaGB'yClampmg 15.1 19.8 1223|248 | 28.7| 32 | 357 433|484 (536|587 |639| 67 |73.7|80.4 |87.1|853|954 |111.7|121.8| 132 [129.8(144.4|168.2|182.9{197.7|169.3| 190 [210.6|231.3|251.9(272.6
cm’ Releasing] 228|298 336|374 | 441 | 495 | 548|639 | 715 | 79.1 | 867 | 943 |102.1(102.1]1226|132.7| 126.8[ 1419 166 |181.1|196.2|199.6222.3|258.6|281.3|303.9 | 266.7|299.2|331.7|364.2 | 3967 429.3
Weight¥8 kgl 11 |14 | 15|16 |21 |23 |24 (28| 3 3234 |36|45|48| 5 |53|55|59|63|66]|69|93]|98|104[109]104[114]121 127134141148

Note: ¥ 8.Indicates the weight of the rotating cylinder, including nut and conical sleeve.

302



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:Y[]:Swivel angle

E XT E R NA L DI M E N S I O N S *1.Detailed explanation of platen positioning slot

) C:Block(speed control valve with RP thread p|ug) In release state,the position of platen positioning
slot will change with rotation direction and rotation

Nx angle during clamping.Towards oil port when clamping.
Clamp oil port
-C/-G type N ) &)
o \ Release state Clamp state
z
= - Rtype L type R/L type same position
z s
& §
J - 'AQ\/
XD @ /7 s
Release oil port Clamp / ﬁ

\ /%
/| Cla mp\&
\ platen positioning slot
Nut (included) 2AC Thread X
 Threac

N INSTALLATION
- S Bl >ROCESSING DIMENSION

-C/-G type

&
&

'z
)

\%
Taper1/10
CcB
d[%
T
\
BA

_ D'33

Copical sleeve(included) 2BB DEbU”iM*GNG C0.6
o|U v/6

7

Fu

\
|

*5

HA
G
o~
———
f
|

S*2

|
T
7771

HE

HF

Release oil portz*6

oHDB1 N @O W

y*6Ny*6
\

Release oil port: Rp thread*3 HB
(Only Ctype can be installed _JA H J 2.7 = oS
with speed control valve) Y 5 )
N Y @ Clamp oil portz *6 §
o F\%;tw i
9 c 4-EA thread *4 0K
g E>=1J
O X i <
o 7F:/:-tj < Note:
j (G )2 4.Please refer to S size, determine the EA thread depth
[+5=2 } \5,\7’ ‘ of the installation bolt according to installation height.
N2 % 5.Please refer to HF size, determine depth of installation

2-G Plug (included) Countersink 2Q hole @D of body according to installation height.
6.This processing indicates -C: plate connection type.
(Only Ctype) @ CC_Positioning slot*1 P 9 P yP
Clamp oil port: Rp thread*3

(Only Ctype can be installed . .
with speed control valve) > This drawing shows the clamp

state of JLHA-CCN.
Note:
1.Platen positioning slot towards oil port when clamping.

2.This product doesn't include mounting bolt, please configure it according to installation height
and referring to S size.

3.This product doesn't include speed control valve, please configure it referring to P280.

*When used in combination with other detection methods and options,please contact our
business department.

»This product doesn't include clamping arm, please configure it by customers.

303



JFC

EXTERNAL DIMENSIONS AND INSTALLATION PARTS
PROCESSING DIMENSION TABLE

. JLHA
Upper flange swivel cylinders

. JLHA JLHA JLHA JLHA JLHA JLHA JLHA JLHA
0360-[]1-Y [ 0400-[11-Y [1/0480-[IC1-Y [ 0550- 1~ ] 0650-[IC1-Y [110750-C1C1-QL] 0900-CC1-Y O 1050-CIC1-Y[

(a)th):tei??:rlytype Y30 | V45 | Y60 | Y30 | V45 | Y60 | Y30 | V45 | Y60 | Y30 | V45 | Y60 | Y30 | V45 | Y60 | Y30 | VA5 | Y60 | 30 | V45 | V60 | v30 | V45 | V6O
Swivel angle 30° | 45° | 60° | 30° | 45° | 60° | 30° | 45° | 60° | 30° | 45° | 60° | 30° | 45° | 60° | 30° | 45° | 60° | 30° | 45 | 60° | 30° | 45° | 60°
Total run 109 | 115 | 122 | 105 {123 | 13 | 121 | 13 | 138 | 147 | 156 | 166 | 153 | 165 | 176 | 1807 | 20 | 213 | 199 | 214 | 229 | 248 | 266 | 284
5(8’6‘!)9' stroke 29 |35 | 42 |35 |43 | 5 | 41| 5 | 58 |47 |56 |66 |53 |65 |76 |67 | 8 |93 |79 |94 19|88 106|124
Glamping 8 8 8 10 10 12 12 16

HA 101.5‘102.1‘102.8 112.1‘112,9‘113.6 125.2‘1261‘126.9 141.8‘142]‘143.7 151.4‘152.6‘153.7 175.8‘177.1‘175.4 197 ‘198.5‘199.95 232.9‘234.7‘236.5
HB 49 54 61 69 81 ) 107 i)

HC 40 45 51 60 70 80 9% 110

HD 36 40 4 55 65 7 90 105

HE 645 715 79 89 9% 109 120 144

HF 395 465 51 59 63 7 74 88

Fu 619 ‘ 625 ‘ 632 | 655 ‘ 663 ‘ 67 | 741 ‘ 75 ‘ 758 | 827 ‘ 836 ‘ 846 | 883 ‘ 895 ‘ 9056 104.7‘ 106 ‘107.3 1229 ‘ 1244 ‘ 1259 | 1448 ‘ 1466 ‘ 1484
G 2% 2 28 30 31 38 46 56

H 29 315 355 39 46 5 595 67

J 2 05 255 30 35 40 475 55

K 315 341 401 471 551 631 751 88.1

L 66 73 83 88 106 116 136 152

M 11 11 13 1 13 16 19 n

Nx 235 2 30 35 395 45 525 60

Ny 8 9 1 12 15 16 185 05

P 3 3 3 3 5 5 5 5

Q 75 9 9 1 1 14 175 20

R 45 55 55 68 68 9 1 14

S 16 15 175 17 17 2 25 3

T 129 ‘ 135 ‘ 142 | 135 ‘ 143 ‘ 15 | 141 ‘ 15 ‘ 158 | 167 ‘ 176 ‘ 186 | 173 ‘ 185 ‘ 196 | 207 ‘ b)) ‘ 233 | 219 ‘ 234 ‘ 29 | 268 ‘ 286 ‘ 304
U 157 1817 nfr 2517 3017 35517 4517 557

v 13 15 18 21 2% 30 37 e

W 1 V) 14 15 16 16 18 19
X (nominalxPitch)|  M4X15 MI6X 15 M20X15 M22X L5 M2TX L5 M30X 15 M39X 15 M48X 15

¥ 5 6 8 8 10 10 14 14
Z(chamfer) Q a3 (o] a C4 5 6 6

AA n 2% 30 3 41 46 55 65

AB 7 8 9 10 1 1 0 jb)

AC 245 265 33 355 45 50 60 !

BA 14 16 19 b)) 25 31 3 4

BB 17 2 2 28 3% 4 49 60

CA 6_00s 7 00 9 _0os 10_ s 125 g 14 _qgs 185 s B e
cB 65 65 75 95 115 125 115 135

c 4005 44005 5 4005 § 0% 64005 §+005 g +008 10+9%

EA M4X0.7 M5%0.8 M5%0.8 M6 M6 M8 M10 M12

JA 35 35 35 35 45 45 45 45

B 14 14 14 14 19 19 b)) n

Rp thread plug Rrp Rp1/8 Rp1/8 Rp1/8 Rp1/8 Rp1/4 Rp1/4 Rp3/8 Rp3/8
Oring seal -Ctype 48X19 48X19 48X19 48X19 68%19 68%19 68%19 68%19
Capacity Clamping 38 ‘ 4 ‘ 43 | 58 ‘ 62 ‘ 65 | 85 ‘ 91 ‘ 97 | 151 ‘ 161 ‘ 171 | 205 ‘ 21 ‘ 236 | 8 ‘ 406 ‘ 432 | 587 ‘ 631 ‘ 676 102.4‘109.9 ‘ 1173

cm~ Releasing 58 | 61 | 65 | 87 | 93 | 98 | 13 | 14 | 148 | 224 | 237 | 252 | 313 | 337 | 36 | 565 | 604 | 643 | 903 | 971 | 1039 | 1613 | 173 | 1847
Weight%7 ke 07 09 14 2 29 42 72 101

Note: ¢ 7.Indicates the weight of the rotating cylinder, including nut and conical sleeve

304

Tie-rod
Hydraulic
Gylinder

Mold
Hydraulic
CGylinders

Swivel &
Clamp
Hydraulic
Qylinders

Booster
Cylinders
&

Unclamping
cylinders

NO)

Specifications
CGylinders

Round
Hydraulic
Gylinders

Specific
Hydraulic
Gylinders

Systems
&
Fittings




JFC

. JLHA
Upper flange swivel cylinders

JBZL SPEEDCONTROL VALVE

Speed control valve that can be directly installed on the oil cylinder

Model Size Control mode
Circuit symbol: Oil inlet throttle
0100 Ap1 ol port )
Oil pressure__, — £ PIZ oil port .
supply side Clamping side
JBZL 0200 PPy .
Circuit symbol: Return oil throttle
0300 B! 1 oil port .
Oil pressure—+—=£ P2oil port
supply side Clamping side
Spec.
Model JBZL0100-A | JBZL0200-A | JBZL0300-A | JBZL0O100-B |JBZL0200-B |JBZL0300-B
Max. working pressure Mpa 7
Voltage resistance Mpa 10.5
Control mode Oil inlet throttle Return oil throttle
Thread size Rp1/8 Rp1/4 Rp3/8 Rp1/8 RoG1/4 Rp3/8
Starting pressure Mpa 0.04 0.12
Max. channel area  MM2 2.6 5.0 1.6 2.6 5.0 10. 2
Fluid (1SO Viscosity grade 1SO-SG-32 General hydraulic oil)
Temperature C 0770
pepommended e N.m 10 2 35 10 2 35

Note:

1+ The min. channel area is equal to the max. channel area in the table above when control side is fully enabled.
2. Please follow the diagram when using, if set P1 oil port to the oil pressure supply side and P2 oil port to the clamping

side,flow control will not be possible.
3. Don't use the used JBZL (speed control valve) on other cylinders.

Otherwise, the metal seal may not be tight due to the difference in the bottom depth of the Rp thread of the cylinder,

so that it is impossible to adjust the speed.

305



, JLHA
JFC Upper flange swivel cylinders

@ JLHA:TS Conical sleeve

2B
Copical degree 1/10
T (o
|
o I U | Type |JLHA0360| JLHAO400 | JLHA0480 | JLHA0550 [ JLHA0B50 | JLHAO750 [JLHA0900 | JLHA1050 Tie-rod
" i .i Hydraulic
| A 14 18 22.4 25 30 5.5 45 50.6 Cylinder
B 16 20 25 28 34 40 49 60
gA © 18 16 21 20 22 29 38 44
Mold
MACHINING OF Hydraulic
CLAMPING ARM Cylinders
When using conical sleeve Swivel &
HE £0.05 $HD H8 Clamp
Hydraulic
/\ Cylinders
;r ; No processing is required when
?C K LA ?; not using positioning pin Booster
Cylinders
&
fos oHG 3 Urlxg:lgmping
r—; 4 § cylinders
N
S _—p z ISO
I
T Specifications
Cylinders
$HF H8
Cc-C
MACHINING DIMENSION Hounc
Hydraulic
Type JLHA0360 JLHA0400 | JLHA0480 | JLHA0550 | JLHA0650 | JLHA0750 | JLHA0900 | JLHA1050 Cylinders
HC 10.5 10.5 125 14.5 16.5 17.5 17.5 20.5
HD 4 +Q018 4 0018 5 +0018 6 0018 6 +Q18 g +002 g 902 10+ 0022 Specific
HE 8 9 115 13 15.5 18 225 28 Hydraulic
HF 17 +g.027 20 +8.033 25 +8.033 28 +8.033 34 +8.039 40 +8.039 49 +8.039 60 +8.046 Cy|indel’S
HG 15 17 21 235 29 33 2 51
HH 14 16 19 22 25 31 38 44
HJ 17 19 23 26 29 35 43 50 Systems
Positioning pin D48 °0.015) D48 g ore) 058 g1 068 . 15) D68 4 g1s) 088 “0n2) 08B 0gz2) 108 “o0z2) &
x10 X10 X12 X14 X16 X16 X16 X20 Fittings

306



